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OBJECTIVE TEST QUESTIONS
Y ou are advised to spend no more than 30 minutes on these questions.

Each item consists of a question or an incomplete statement followed by four suggested answers or
completions. You are to select the most appropriate answer in each case.

1 If theincome elasticity for agood is positive, this means that this good must be

an inferior good.
a complementary good.

apublic good.

o O W >r

anormal good.

2 A production possibility curve can be used to show all the following except
A thedifferent combinations of two goods that can be produced from available inputs.

B  thedifferent combinations of two goods that a household can purchase with available
income.

C 4l the productively-efficient combinations of output that can be produced from available
inputs.

D  theopportunity cost of producing more of a particular good.

3 Health careisamerit good because
A itisnon-excludable and non-rival.
B  markets cannot provideit.
C ityieds positive externalities when consumed.
D itincurs private costs of consumption that are less than the social costs of consumption.
4  The extent to which demand for one good responds to a change in the price of another good is
measured by
A priceéasticity of demand.
B  income easticity of demand.
C  crosséasticity of demand.
D

achange in the conditions of demand.
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5 Thediagram below shows two supply curves for orange juice.

Price S,
S,
0 Quantity of
orange juice

The shift from S; to S, could have been caused by an increasein
A  thecost of oranges.

B incomes of consumers.

C thelevel of tax on orangejuice.

D

government subsidies on orange juice.

6 Inamarket economy, the market mechanism can achieve al the following except
A signalling changesin consumer tastes.
B  causing supply to respond to changes in demand.
C  diminating excess supply and demand.
D  ensuring afair distribution of all types of good.

7 It wasreported in December 2001 that De Beers, the world’ s biggest diamond dealer, was trying
to restore the image of diamonds as the ultimate status symbol (Daily Mail, 27 December 2001).
If the company estimated that the income elasticity of demand for diamonds was +2.0, by how
much might De Beers have expected the demand for diamonds to change if average incomes had
risen by 5%?
A -25%
B +25%
C +10.0%
D -10.0%
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8 When a minimum price which is above the free-market equilibrium price is imposed on a good
by the government,

10

A

B
C
D

excess supply will result.
trading will continue at the equilibrium price.
excess demand will result.

firmswill sell the quantity they wish at this price.

The following information gives details of the price elasticity of demand for certain goods and
services.

Price elasticity of demand
Cars -15
Telephone calls -1.0
Cinematickets -04
Matches 0.0

Given thisinformation, an increase in the price of each item by 1% would result in an increase in
sales revenue in the case of

A

B
C
D

carsonly.
cars and telephone calls only.
cinematickets and matches only.

matches only.

Without government intervention, which one of the following is most likely to be under-
produced in a market economy?

A

B
C
D

Normal goods.
Merit goods.
Luxury goods.

Inferior goods.
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11 Which one of the following is most likely to result from increased specialisation?
A Lower production.
B Higher unit costs.
C  Lower wages per worker.
D

Higher productivity.

12 Government intervention in a market economy can lead to an increase in economic welfare if
A the market mechanism fails to allow for externalities.
B  itleadsto anincrease in the consumption of demerit goods.
C thepriceeasticity of supply of private goodsis high.
D

the demand for inferior goods rises as incomes increase.

13 The diagram below shows a maximum rent imposed on flats in central Edinburgh.

Rent Supply

——————————————————————————————————— Maximum rent

Demand

0 Quantity of flats

Thiswill lead to
A trading at the equilibrium rent in the market.
ashortage of flatsfor rent in Edinburgh.

excess supply.

o O w

waiting lists for flats in Edinburgh.
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14 A misallocation of resourcesis mostly likely to occur in monopoly if

15

16

17

A other firms enter the industry.

B higher prices are charged than under competitive conditions.

C  market output increases.

D  thereare economies of scale.

The government was recently advised that a 20% increase in the price of acoholic drink would
reduce consumption by the rich by 3% and consumption by the poor by 10%. It can be inferred
from this that

A therich enjoy alcoholic drinks more than the poor.

B  fortherich, alcohaolic drink is an inferior good.

C demandispriceinelastic for both rich and poor.

D thedemand of the poor is price elastic while that of the rich is price inelastic.
An economy is only productively efficient when

A al wants are satisfied.

B dl firms benefit from economies of scale.

C itisproducing both private and public goods.

D it operateson its production possibility boundary.

Which of the following necessarily represent a market failure?

A Rising costs of production.

B  Pricesrising because of changed conditions of demand.

C  Firmsclosing down because the goods they produce are no longer needed.

D  Producers being unableto charge a price for the external benefits they create.
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18 The production possibility schedule for motor cars and tractorsis as follows.

Motor cars

Tractors

18
17
16
15
12
9

6

0

~N O oA WDN

The opportunity cost of increasing production of tractorsfrom0to 3is

A 1 motor car.

B  2motor cars.
C 3 motor cars.
D

13 motor cars.

19 A positive externality exists when

A thesocial cost of consumption exceeds the private cost of consumption.

the private benefit of production exceeds the social benefit of production.

B
C  theconsumption of the product provides benefits to third parties.
D

the production of the product imposes costs on third parties.

20 Which one of the following is not held constant when a demand curve for agood is drawn?

A Theprice of the good.

The price of complementary goods.

B
C  Theprice of substitutes.
D

The price of factors of production.
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21 Inan article written in September 2001, an EU official commented that “ Scrapping the Common
Agricultural Policy (CAP) would be disastrous; the gap between the EU’s domestic and world
prices would put significant downward pressure on EU farm prices and farm income”.

22

On the basis of this statement it may be inferred that within the European Union

A

B
C
D

citizens benefited from cheap domestic food supplies.

farmers were protected from foreign competition.

farming was more efficient than elsewhere in the world.

CAP increased the welfare of consumers.

The diagram below shows the market for beef.

o

Quantity

If theinitial equilibrium isindicated by point Y, what will be the new equilibrium position if the
cost of producing beef rises and the price of chicken falls?

A

B
C
D

E

E
G
H
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23 The diagram below shows the free market equilibrium for a demerit good.

Price
Supply
P2 """"""""""" ]
3 S S
P3 """"""""" E i
E i Demand
O Q2 Q1 Qua.ntlty

To reduce the consumption of the good from OQ); to OQ, the government could introduce a
A maximum price of OP, per unit supplied.

B  tax of PsP, per unit supplied.

C  subsidy of P3P, per unit supplied.
D

aminimum price of OP; per unit supplied.

24 Government intervention in the market
A doesnot necessarily result in an improvement in economic welfare.
B  isaways undertaken when there are externalities present.
C  isbest achieved through the use of taxes.
D

is undertaken when the risk of government failure is minimal.

25 Which of the following would not be included in a definition of the factor of production, land?
A Farmland.
B Timber.
C Fossil fuels.
D

Factories.
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10

QUESTION 25 WASTHE LAST
QUESTION IN THE PAPER

ON YOUR ANSWER SHEET
IGNORE ROWS26 TO 50

END OF TEST
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